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True or false (5 questions). 

1.)  The capital letters CPCTC are an abbreviation for the phrase, “congruent parts of congruent triangles are 

congruent.”  

2.)  In an isosceles triangle, the perpendicular bisector of the base is also the same segment as the angles 

bisector of the vertex angle.  

3.) The base angles of an isosceles triangle are always acute.  

4.) An exterior angle of a triangle is greater than each of the interior angles.  

5.) The sum of the measures of the three angles of an obtuse triangle is greater than the sum of the measures 

of the three angles of an acute triangle. 

6.) It is possible for an obtuse triangle to have three congruent sides.  

7.) A triangle with all the sides equal in measure must be an acute triangle.  

8.) If a triangle has two angles of equal measure, then the third angles is obtuse.  

 

Find the missing value in each triangle (4 questions).  

 

 

 

 

 

 

 

 

 

If possible, name the congruent triangles. State the conjecture that supports the congruence statement. If 

you cannot show the triangles to be congruent from the information given, write “cannot be determined.” 

(6 questions)  
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Answer the questions below (The figures below are not drawn to scale.) (2 questions) 

 

 

 

 

 

 

 

 

 

 

 

Find the measure of each lettered angles below. (1 question) 
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2𝑥 + 4 

Find the missing measures below (1 question). 

  

 

 

 

 

 

 

 

Answer the questions below (2 questions).  

Is it possible to draw a triangle with sides of 5 ft, 6 ft, and 12 ft? Explain how you know and be sure to show 

your work. 

 

 

 

Is it possible to draw a triangle with sides of 3.5 cm, 4.5 cm, and 7 cm? Explain how you know and be sure to 

show your work. 

 

 

 

If 54 and 48 are the lengths of two sides of a triangle, what is the range of possible values for the length of 

the third side? 

 

 

 

 

If 14 and 22 are the lengths of two sides of a triangle, what is the range of possible values for the length of 

the third side? 

 

 

p = 62° 

t = ____ 
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Provide each missing conclusion or justification in the flow chart proof. (1 question).  

 

 

 

 

 

 

 

 

 

 

 

 

Write the complete proof. (2 question).  

 


